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1. On reductive ozonolysis one molecule of a hydrocarbon produces two

molecules of ethanal and one molecule of ethane dial. The hydrocarbon

could be:

A. hexa-1, 3-diene

B. hexa-2, 4-diene

C. cyclohexa-1, 4-diene

D. cyclohexa-1, 3-diene


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_w14dkARzvd25

Answer:

° Watch Video Solution

2. Predict the correct intermediate and product in the following reaction

sequence:

C=CH -—'fﬁl—-p A —-+'_E_

(8]

C=CH,
”<:>_C=CH1 B'Q_| ! —C—CHy c=H CH [ Cc—CHy
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Am C=CH, Be C—CHy

C. b 8

Answer: D

| oo ]


https://dl.doubtnut.com/l/_w14dkARzvd25
https://dl.doubtnut.com/l/_nVUzqDFdxSdK

I & Watch Video Solution

3. By which of the following methods ketones cannot be prepared?

A. hydration of alkynes

B. hydrolysis of gem-dihalides

C.dry distillation of calcium carboxylates

D. Stephen's reduction

Answer:

o Watch Video Solution

4.Compunds A and C in the following reaction are:

1)CH3MgBr conc.HySO, / A i) BoH,
cHycHO WNMy j B0 8y OB

A. identical

B. functional isomers


https://dl.doubtnut.com/l/_nVUzqDFdxSdK
https://dl.doubtnut.com/l/_fCo7appiQYQo
https://dl.doubtnut.com/l/_JW6rSCqnaGr3

C. position isomers

D. optical isomers

Answer:

° Watch Video Solution

5.The product of the given reaction sequence is
O CH=0_wn_,x_wo_,y
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O
C—COOH

C.


https://dl.doubtnut.com/l/_JW6rSCqnaGr3
https://dl.doubtnut.com/l/_b27mqjHYKUua

H
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O-La
f
D.

Answer:

o Watch Video Solution

6. Which of the following statements regarding carbonyl group is not
correct? The carbon atom of the carbonyl group in aldehydes and
ketones is sp® hybridised, The carbon atom of the carbonyl group in the
transition state formed during the addition reaction across it sp®
hybridised, An aryl group stabilizes an aldehyde more than the transition
state, The aryl group in aromatic aldehydes speeds up the addition

reaction across the carbonyl group

A. The carbon atom of the carbonyl group in aldehydes and ketones is

sp® hybridised


https://dl.doubtnut.com/l/_b27mqjHYKUua
https://dl.doubtnut.com/l/_tiNyMEkFxjLK

B.The carbon atom of the carbonyl group in the transition state
formed during the addition reaction across it sp® hybridised

C. An aryl group stabilizes an aldehyde more than the transition state

D.The aryl group in aromatic aldehydes speeds up the addition

reaction across the carbonyl group

Answer:

o Watch Video Solution

7. Which of the following molecules is more reactive towards nucleophilic

addtion?

(f_fj]/i.'lﬂ:l

A ~

-

COCH,

B,


https://dl.doubtnut.com/l/_tiNyMEkFxjLK
https://dl.doubtnut.com/l/_zYHw1xEwgrYp

CHO

N,
C.
CHO)
r
s
D.
Answer:

° Watch Video Solution

8. In the following reaction sequence, the product B is

NH,OH PCl
CeH;COCsHy —— A —2 B



https://dl.doubtnut.com/l/_zYHw1xEwgrYp
https://dl.doubtnut.com/l/_LcJP4P9bTBun

A CgHy — ‘0
|
N -OH

B.CsHy C CsHp

|1
N

— CgHj

C.C¢HsCONHCsHs

D.CsHs — C]H — NHCsHsj

OH

Answer:

o Watch Video Solution

9. Complete the following table

-----

AV < T <1 <

B.II < 1 <1 < IV



https://dl.doubtnut.com/l/_LcJP4P9bTBun
https://dl.doubtnut.com/l/_tV9ejOj3Rhzz

Civcimm<i <l

D.IVv. < 1l < I < |

Answer:

° Watch Video Solution

10. Give the decreasing order of the following carbonyl compounds

towards nucleophilic substituition.

CHO CHO CHO

Iy Iy V)

AV > I > 11 > |
B.I > I > IV > |
Cih>1>1>1Vv

D.I > IV > 1l > 1l


https://dl.doubtnut.com/l/_tV9ejOj3Rhzz
https://dl.doubtnut.com/l/_xmVbHCcNYTCV

Answer:

° Watch Video Solution

11. Predict the product of the following reaction
L)

- -

{Hy 4 CH,CH,NH, _"
O

[
Il
@,c-ﬁn{:_mz—m,—nn,

0

@,11:'—-14}1 —CH;—CHy
B.

N—CHy —CHy
I

L-""“ﬂl'.“.l'h
Ne

OH

O/C—Nu—cu,—m,—cu,

Answer:


https://dl.doubtnut.com/l/_xmVbHCcNYTCV
https://dl.doubtnut.com/l/_B6yqMYJ17HMz

° Watch Video Solution

12. Which of the following carbonyl compounds undergo nucleophilic

addition with ammonia forming aldimine?

A. HCHO

CHO

CHy—C=

D.CH3CHO

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_B6yqMYJ17HMz
https://dl.doubtnut.com/l/_B02PHmFuaAAq

13. Which of these reagents can be used for the following conversion?

0 /N
] ()

A.RMgX | H,O

CH,OH
B. | & dry HCI
CH,OH

C.Dry ether

D. ROH % dry HCl

Answer:

o Watch Video Solution

14. Which of the following reagents is used to reduce acetone to

isopropyl alcohol?


https://dl.doubtnut.com/l/_eTu78XEYsNid
https://dl.doubtnut.com/l/_9QaDsw8l2TNN

A LiAlH,
B. NaBH,
C.H,/ Ni,PtorPd

D. Any of these

Answer:

o Watch Video Solution

15.In the conversion of Grignard reagent into higher aldehydes, the other

compound that can be used is : Ethyl formate, Ethyl acetate, HCN, Both (1)

and (3)

A. Ethyl formate

B. Ethyl acetate

C.HCN

D. Both (1) and (3)


https://dl.doubtnut.com/l/_9QaDsw8l2TNN
https://dl.doubtnut.com/l/_Jeiof8biyRYB

Answer:

o Watch Video Solution

16. Match the following transformations with the reagents required:
(A), p-nitrotoluene to p-nitrobenzaldehyde, (a), BoHg& Hy0y /OH ~ ), (B
—3—e# —1—o0l — Pent — 3 — enal,(d),dil. H_(2)SO_(4) %HgSO_(4

A ABCDE
edacb

8 ABCDE
abcde

ABCDE
eabdc

ABCDE
ebdca

Answer:

o Watch Video Solution

17. Arrange the following compounds in the increasing order of their

reactivity in nucleophilic addition reaction


https://dl.doubtnut.com/l/_Jeiof8biyRYB
https://dl.doubtnut.com/l/_OPkwQROm9GoO
https://dl.doubtnut.com/l/_54Ou3nXKsjzu

A) Acetophenone B) Benzaldehyde C) Formaldehyde D) Acetone

A A/B,D,C

B.A,B,C,D

C.(,D,B,A

D.D,A,B,C

Answer:

o Watch Video Solution

18. The reagent with which both hexanal and hexan-2-one can react is

A. Fehlings solution

B. NaOl

C. Grignard reagent

D. Tollen's reagent

Answer:


https://dl.doubtnut.com/l/_54Ou3nXKsjzu
https://dl.doubtnut.com/l/_3ZPT3oCEmuLg

° Watch Video Solution

()

CHy—C

19. X can be

° Watch Video Solution

20. In the following sequency of reactions, the final product (E) is

H,0  dil.H,SO,; _ Oxidation _ Ca(OH), A
CaCs | s B s C s D s B

H92+

A. Acetaldehyde

B. Acetone

C. Formic acid


https://dl.doubtnut.com/l/_3ZPT3oCEmuLg
https://dl.doubtnut.com/l/_TGBcpzxWIkRQ
https://dl.doubtnut.com/l/_F8Yizqudmk3V

D. Acetic acid

Answer:

° Watch Video Solution

21. Which of the following aldehydes do not undergo Cannizzaro
reaction?

A (CH;),CH — CHO

B.CH; — CH, — CH, — CHO

C.(CH;),C — CHO

D.H - CHO

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_F8Yizqudmk3V
https://dl.doubtnut.com/l/_KqUDM5Kl3MJ4

22. Treatment of a carbonyl compound with hydrazine produces
hydrazone in presence of glycol as the solvent. Which of the following
statements are correct about this reaction?

The reaction involves nucleophilic addition followed by elimination of
water

Hydrazone is an intermediate in Wolff-Kishner reduction

The reaction is carried out in freebly acidic medium

1,2,and 3

A.The reaction involves nucleophilic addition followed by elimination

of water

B. Hydrazone is an intermediate in Wolff-Kishner reduction

C.The reaction is carried out in freebly acidic medium

D.1,2,and 3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_n3ogJy9mwFyb

23. An organic compound of MF. C3HgO forms 2, 4-DNP derivative,

reduces. Tollens reagent and undergoes Cannizzaro reaction. On vigorous

oxidation it gives Benzene-1, 2-dicarboxylic acid. The compound is

A. 2-methyl benzaldehyde

B. 2-ethyl benzaldehyde

C. 3-methyl benzaldehyde

D. phenyl ethanal

Answer:

o Watch Video Solution

24. Of the following, which is the product formed when cyclopentanone

undergoes aldol condensation followed by heating?

O


https://dl.doubtnut.com/l/_YRx3kZ1ekZHg
https://dl.doubtnut.com/l/_hGqKZF3LJgLF

B.
O
C.
OH O
D.
Answer: D

o Watch Video Solution

25. Fehlings solution is a mixture of CuSO4(A) and an alkaline solution
of sodium potassium tartrate (B), providing Cu?*&OH ~. The role of
sodium Potassium tartrate is (1) Provides OH- (2) Provides H+ (3)

Complexing agent (4) All of these

A. Provides OH ~

B. Provides H


https://dl.doubtnut.com/l/_hGqKZF3LJgLF
https://dl.doubtnut.com/l/_yQaotOMrxSY1

C. Complexing agent

D. All of these

Answer:

° Watch Video Solution

26. Which of the following reagents is used to separate and purify an

aldehyde from a mixture of it with a high ketone.: HCN, ROH&dryHCl

, NH,OH, Saturated solution of NaHSO;

A. HCN

B. ROH & dry HCl

C. NH,OH

D. Saturated solution of NaHSO;5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yQaotOMrxSY1
https://dl.doubtnut.com/l/_N7thQBPBueQG

27.In which of the following reactions either the cleavage or formation of

a carbon-carbon bond does not take place?

A. Aldol condensation

B. Cannizzaro reaction

C. Kolbe reaction

D. Reimer-Tiemann reaction

Answer:

o Watch Video Solution

28. Write structural formulas and names of four possible aldol
condensation products from propanal and butanal. In each case, indicate

which aldehyde acts as nucleophile and which as electrophile.

A. hex-3-en-2-one


https://dl.doubtnut.com/l/_N7thQBPBueQG
https://dl.doubtnut.com/l/_eZCbfPxgvJr2
https://dl.doubtnut.com/l/_NWoJK02LazXT

B. 2, 3-dimethylbut-2-enal

C. 2-methylpent-2-enal

D. None of these

Answer:

o Watch Video Solution

29. Which one of the following is not expected to undergo iodoform

reaction?

A.CH; — CHOH — COOH

o

|
B.CH; — C — COOH

o

|
CCH; -C —-0OH



https://dl.doubtnut.com/l/_NWoJK02LazXT
https://dl.doubtnut.com/l/_oD0uNvaebUCd

| o Watch Video Solution

30. Predict the major product obtained by the crossed Cannizzaro

reaction between 2, 2-dimethyl propanal and 4-methyl benzaldehyde on

heating with 50% NaOH

A. 4-methyl sod. Benzoate & 2, 2-dimethyl propan-1-ol

B. 2, 2-dimethyl sod. Propanoate & 4-methyl benzyl alcohol

C.Both1and 2

D. None of these

Answer:

o Watch Video Solution

Level li

1. The general formula of aliphatic saturated aldehydes and ketones is:



https://dl.doubtnut.com/l/_oD0uNvaebUCd
https://dl.doubtnut.com/l/_rxOCZH8h9SVg
https://dl.doubtnut.com/l/_60a3zm3h4F53

A. C,,H,,, 0,

B. C, H,,0

C.C,Hj, 20

D.C,Hy, . 1OH

Answer:

o Watch Video Solution

2. The IUPAC name of

O 0
|

A. 5-formyl hex-2-en-3-one

B. 5-methyl-4-oxo hex-2-en-5-al

the

compound


https://dl.doubtnut.com/l/_60a3zm3h4F53
https://dl.doubtnut.com/l/_h358ScaRAISH

C. 2-methyl-3-oxo hex-4-enal

D. 3-keto-2-methyl hex-4-enal

Answer:

o Watch Video Solution

3. A single compound of the structure

CH; CH;

| |
OHC — CHy — CH — CHy — C = O is obtainable by the reductive

ozonolysis of which of the following cyclic compounds?

CH CH,

CH ,\gfﬂa

B.


https://dl.doubtnut.com/l/_h358ScaRAISH
https://dl.doubtnut.com/l/_hKckroFgBRDK

[TH],
C.
CH-
D.
Answer:

o Watch Video Solution

4. Predict the correct intermediate and product in the following reaction:

H,0, H,S0, _
CH; — C = CH ——— Intermediate — Product
HgSO, (A) (B)

AACHg— C :CH2 BICHg— C :CH2
| |

OH S0,
BBA:CH; —C=CH; B:CH;—C=CH
0
CA:CH;—- C =CH, B:CH3;—- C —CHj4
on 0

D.A:CH; — ‘C’ = CH, B:C’H3—ﬁ'—CH3

S0, o


https://dl.doubtnut.com/l/_hKckroFgBRDK
https://dl.doubtnut.com/l/_xaFj2K1IvoCy

Answer:

° Watch Video Solution

5. The reaction temperature of the preparation of butanal by the
oxidation of butan-1-ol using acidifed KyCr,07 is (Given : b.p. of butanal
=349 K, b.p. of butan-1-ol = 391 K)

A.392 K

B.345K

C.340K

D.352 K

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xaFj2K1IvoCy
https://dl.doubtnut.com/l/_fPMCDPXCpFIX

6. The most suitable oxidising agent for the conversion of cyclohex-2-en-1-
ol to cyclohex-2-en-1-one is

A.CrO;3 /conc. H, SO,

B. KQC’I‘207/H+

C.PCC

Answer:

o Watch Video Solution

7. Which one of the following on alkaline hydrolysis produces a ketone?
Isobutylidene chloride, Ethylidene chloride, Benzylidene chloride,

Secondary butylidene chloride

A.Isobutylidene chloride

B. Ethylidene chloride


https://dl.doubtnut.com/l/_aPFytxiEXrtk
https://dl.doubtnut.com/l/_wFAvN9S0N4ty

C. Benzylidene chloride

D. Secondary butylidene chloride

Answer:

° Watch Video Solution

8. The compound which is formed during the dry distillation of calcium
benzoate is

A. Benzoic acid

B. Acetophenone

C.Benzophenone

D. Benzamide

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wFAvN9S0N4ty
https://dl.doubtnut.com/l/_5s5QdWRuDIIN
https://dl.doubtnut.com/l/_34FWt8Sp440d

(a) CH,CN + <)— MgBr 2 X

]

X &Y are respectively

9.

OO
(}cm . O_ﬁ e
B.
o 4]
O—g —CH, & Q—ﬂ —CyH;
C.
0 o
O—(r:l —CH34<:>—(I'_! —CH,
D.

Answer:

° Watch Video Solution

10. The reaction by which benzaldehyde cannot be prepared is


https://dl.doubtnut.com/l/_34FWt8Sp440d
https://dl.doubtnut.com/l/_z03udz1MAjyF

0
||

A CH3 — C — Cl in presence of anhydrous

AlCl3

(O)+co-ma
B.

©-ovoe
C.

hydrolysis

in presence of anhydrous AlCI;

CH; + CrO3Cly in CSs followed

Cl

H;0"
D. CH; + Ac,O + CrOs T

Answer:

° Watch Video Solution

11. Which of the following pathways does not produce hexan-2-one?


https://dl.doubtnut.com/l/_z03udz1MAjyF
https://dl.doubtnut.com/l/_NsuAVzOIuRs2

A. Hex-1-yne is treated with dil. H, SO, in presence of Hg? ™"

B. Hex-1-yne is treated with diborane followed by oxidation with
alkaline Hy0O,

C. 3-methyl hept-2-ene is subjected to reductive ozonolysis

D. Acetaldehyde is treated with n-butyl magnesium bromide followed

by hydrolysis and oxidation

Answer:

o Watch Video Solution

12. The major product of the following reaction is:

CN

0 |1} Do H
| l‘:"l.'.-.'.

O


https://dl.doubtnut.com/l/_NsuAVzOIuRs2
https://dl.doubtnut.com/l/_IAJ8b3BE60OX

-

qnu

B 0O
zg/\c:'j
CHO
C.
CH=NH
H
~._—OH
D.
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IAJ8b3BE60OX
https://dl.doubtnut.com/l/_dxdl87himCUm

i . Dry HCI
13.In the following reaction: Aldehyde + Alcohol —— Acetal

Aldehyde Alcohol
HCHO t-BuOH
CH;CHO MeOH

The best combination is (1) HCHO and MeOH (2) HCHO and t- BuOH
CH3CHO CHO and MeOH (4)CH3CHO CHO and t-BuOH

A. HCHO and MeOH

B. HCHO and t-BuOH

C.CH3CHO and MeOH

D. CH3CHO and t-BuOH

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dxdl87himCUm

14.The major product X formed in the following reaction is

()
o |
CH,— C—0OCH;
| Mmbm, W

ke

N\

OH
é{(‘H; —CH,0H
A.

)
Il

0
é/ﬂ'h—-c-ii
B.
OH
5({'H;—-CH30H
C.



https://dl.doubtnut.com/l/_JVgEkmwpe2aS

| ¥ vvatch video sSolution

(‘
SCHy L, Q/\

HO

15. HO

The reagent 'X' to be used for this conversion is

A LiAlH,
B. Zn/Hg and conc. HCl
C.NH, — NH, in glycol/KOH

D. Either 2 or 3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JVgEkmwpe2aS
https://dl.doubtnut.com/l/_Olb5t2GlhSMk

16. The most suitable reagent (Y) for the following conversion is

A. Zn/Hg conc. HCI

B. NaBHy

C. NoHy4/glycol & KOH/A

D. Either 1or 3

Answer:

o Watch Video Solution

17. Under Clemmensen or Wolff-Kishner conditions of reduction, the

conversions which may be brought about are:

A. Benzophenone to Diphenyl methane


https://dl.doubtnut.com/l/_qHN6tNjZJFgr
https://dl.doubtnut.com/l/_br9RqSDw0NO3

B. Cyclopentanone to cyclopentane
C. Cyclohexane Carbaldehyde to methyl cyclohexane

D. All of these

Answer:

o Watch Video Solution

18. Compound 'X' (C3HgO) is treated with acidified K,CryO7 to form
product 'Y' (C3HgO) 'Y' does not form silver mirror with ammoniacal
AgNOj3 but when treated with semicarbazide in feebly acidic medium
gives:

ACH;— C =N-NH—-CO - NH,

|
CH3

B.CH; — C = N—-CO—- NH — NH,
|
CH;

C.CHs —-CHy —CH =N - NH - CO — NH,

D.CH; —CHy —CH =N —-CO — NH — NH,


https://dl.doubtnut.com/l/_br9RqSDw0NO3
https://dl.doubtnut.com/l/_DztIQKTENP6g

Answer:

o Watch Video Solution

19. Match the following:

Column-| Colurmn-1
COROR
. _CHO
" L/T ——= Pl
Hi) |
01
COOH
CHO

b) /E/) Bl r|__+ :”. .
HiY et

CHO CHO
. f’l“
C] gl MM .Ilﬂ N r] I L
] I

i
COW
CHAOH )w H
d) " 8) -
b
[§]
OH

Aa—pb—qc—rd—s

B.a—+s,b—+qc—pd—r


https://dl.doubtnut.com/l/_DztIQKTENP6g
https://dl.doubtnut.com/l/_WUXmqW88rzhx

Ca—s,b—>p,c—qd—r

D.a — q,b =+ p,c = s,d—=r

Answer:

° Watch Video Solution

20. When pentan-2-one is treated with conc. HNQO;3 at elevated

temperature, the products obtained are

A. Butanoic acid and methanoic acid

B. Ethanoic acid and propanoic acid

C. Butanoic acid, CO5 and water

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WUXmqW88rzhx
https://dl.doubtnut.com/l/_X7T8e2H1iOYh
https://dl.doubtnut.com/l/_uib2cnUTYq4a

21. Which is the most suitable reagent for the following transformation?

OH

|
CH; — CH = CH — CH, — CH — CH; — CH; — CH = CH — CH, —

A. Alkaline KMnQO,
B. l2 /NCLOH

C.Tollen's reagent

D. C’T‘02 /CSQ

Answer:

o Watch Video Solution

22. A dihalide C5H{(Cl5(X) on alkaline hydrolysis gives CsH;70O, which
reacts with 2, 4-DNP, does not give silver mirror test but answers
iodoform test. Which of the following is X?

a
. .
("H, —CHy — CH; —CH; —CH

A. l

B.CH; — CH — CH — CH, — CH;
| |
Cl Cl


https://dl.doubtnut.com/l/_uib2cnUTYq4a
https://dl.doubtnut.com/l/_YYhjjmksjblH

Cl

|
C.CH; — c|7 — CH, — CH, — CH;

Cl
Cl
\
D.CH; — CHy — C — CH, — CHj
|

Cl

Answer:

o Watch Video Solution

23. An organic compound CsH150 (X) on oxidation gives C5H;(O(Y). Y
reacts with hydroxylamine to form an oxime, answer Schiff's test and

undergoes Cannizzaro reaction. Compound X' is

OH

|
A.CH; — CH, — CH — CH, — CH,4

B.CH, — CH — CH, — CH,OH
l
CHs
OH

|
C.CH; — CH, — CH, — CH — CH,
CHy

|
D.CH; — C — CHOH
|

CH;


https://dl.doubtnut.com/l/_YYhjjmksjblH
https://dl.doubtnut.com/l/_ac0g64BJLTfV

Answer:

° Watch Video Solution

24. |dentify the combination of compounds that undergo aldol

condensation followed by dehydration to produce 4-methylpent-3-en-

2one

A. Ethanal and butanone

B. two moles of propanone

C. two moles of propanal

D. propanal and propanone

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ac0g64BJLTfV
https://dl.doubtnut.com/l/_WsUmuQ7B5oqo

25. The IUPAC name of the crossed aldol condensation product formed

between propanal and butanal, where the former acting as the

nucleophile and the latter acting as the electrophile is

A. 3-hydroxy-2-methyl pentanal

B. hept-3-enal

C. 2-methyl hex-2-enal

D. hept-2-enal

Answer:

o Watch Video Solution

26. Of the following, which is the product formed when cyclopentanone

undergoes aldol condensation followed by heating?

5

0


https://dl.doubtnut.com/l/_OR5a4rlltS0p
https://dl.doubtnut.com/l/_VDPFysYlvTfY

OH

B.

00
C.

0

Y
OH
D.
Answer:

o Watch Video Solution

27. Consider the reactions:

X CwiTiK A |A.gLNlIL]_.]'UH A
C:H0

= Silver mirror observed

COHIs
0
H;N —NH—C —NH,

7

Identify A, X,Y and Z


https://dl.doubtnut.com/l/_VDPFysYlvTfY
https://dl.doubtnut.com/l/_oMRu6fXP6ztr

A. A-Methoxy methane, X-Ethanol, Y-Ethanoic acid, Z-Semicarbazone

B. A-Ethanal, X-Ethanol, Y-But-2-enal, Z-Semicarbazone

C. A-Ethanol, X-Acetaldehyde , Y-Butanone, Z-Hydrazone

D. A-Methoxy ethane, X-Ethanoic acid, Y-Acetate ion, Z-Hydrazine

Answer:

o Watch Video Solution

28. An organic compound 'X' C3 HgO forms an orange-red precipitate of 2,
4-DNP and gives yellow precipitate with iodine and aqueous sodium
carbonate on heating. It neither reduces Tollens or Fehlings reagent, nor
does it decolourise bromine water or Baeyers reagent. On drastic
oxidation wtih chromic acid, it gives a carboxylic acid 'Y (C7;HgO>).

Compounds X and Y are


https://dl.doubtnut.com/l/_oMRu6fXP6ztr
https://dl.doubtnut.com/l/_IF5VrUKSncc4

CHO COOH
CH;

G

B.
CHOY COOH
I
N A
H‘—)J & H‘ ff-'I'J
|
CHy UM
C.
D.

o

|
CHy,=CH-C=C—-CH=CH—-C —-CHs&CH, =CH — C':

Answer:

° Watch Video Solution

29. Cyclohexene, on reductive ozonolysis gives a compound, which one

heating with dil.NaOH gives which of the following cyclic compounds?


https://dl.doubtnut.com/l/_IF5VrUKSncc4
https://dl.doubtnut.com/l/_HMVvsB0nMXYx

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HMVvsB0nMXYx

30. Which of the following carbonyl compounds, on intramolecular aldol

condensation produces the final product of the structure given as:

CH;,

O

A.CH; —-CO—-CH,—-CH =CH - CO — CH;
B.CH; —CH, — CO - CH, — CO — CH, — CH;j4
C.CH; - CO —-CHy — CHy, — CHy; — CO — CHj

D.CH; — CH, — CHy, — CO — CH, — CO — CH;

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HMVvsB0nMXYx
https://dl.doubtnut.com/l/_5os6VGNpc3Fe
https://dl.doubtnut.com/l/_rMxxMThSI3wO

31.In the following reactions, products A and B are:

0
| W

C
CHy—  —NM s WO g

#

CH,
CH;
) o} o o o

OH CH OH o, CHy i CH

H H s

A=HIC " 8= " A=HC B= A= CH; B- -

CH. CHy ey CH™ ep A !

CHY™ “cn, 7 CHy i) ] HO
o o
CH, a
A= CH, B= oty
HO

0 9
oH CH
H H
A= H;C:b)K B=
A, o e, CHy

CH,

0 o
oH cH
H
A= HiC B= H
B Hy Sy o, Sy,
o . 0
CHy CH,
A= o B= o,
C HO S
.
@ [
CH, oy
A= cH, B= o,
D. *
.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rMxxMThSI3wO

32. When a mixture of benzaldehyde and acetophenone is treated with
dil.NaOH and heated to form an «, S-unsaturated carbonyl compound,

which of the following statements are correct about this reaction?

A. The IUPAC name of the product is : 1, 3-diphenyl prop-2-en-1-one

0
Il

CH‘—"CH—C—'<: )
B. The product has the structure: @

C. This reaction is a modification of Claisen - Schmidt condensation

D. All the statements are correct

Answer:

o Watch Video Solution

33. An organic compound of molecular formula CygH1,O forms 2, 4-DNP,
reduces Tollens reagent and undergoes Cannizzaro reaction. On vigorous

oxidation it gives phthalic acid. The compound is:

A. 2-methyl benzaldehyde


https://dl.doubtnut.com/l/_smraWTi2PEIk
https://dl.doubtnut.com/l/_5ETUk8xwUrz7

B. phenyl propanal

C. 2-ethyl benzaldehyde

D. 2-methyl acetophenone

Answer:

o Watch Video Solution

34.|s.

In this Cannizzaro reaction, the rate determining step is:

A. The nucleophilic addition of OH ~ on one molecule of the aldehyde

B. The transfer of hydride ion from the first molecule to the carbonyl

group of the second molecule

C. The shift of proton from the acid formed

D. The protonation of the alkoxide ion

Answer:



https://dl.doubtnut.com/l/_5ETUk8xwUrz7
https://dl.doubtnut.com/l/_lNk1eBQnGxJ9

| ° Watch Video Solution

35. A mixture of benzaldehyde and formaldehyde is heated with 50%

NaOH forms ?

° Watch Video Solution

50% KOH
36. 1. —> "X’ + 'Y ’, Which of the following are X & Y?

Alss
B.[#
C.les

D. s

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lNk1eBQnGxJ9
https://dl.doubtnut.com/l/_Y04EfQM9mQ2e
https://dl.doubtnut.com/l/_zAc0LC1CJl02
https://dl.doubtnut.com/l/_1cqnd1N5VLIc

CH=0

| OH - .
— X, Xis

CH=0 a

Glyoxal

37.

COO~
A |

CH,O~

COO~
B. |

COO~
COO~

C. |

CH>,OH
CHQO_

D. |
CHsO~

Answer:

° Watch Video Solution

<O} C=m( —S CH'DH
|

H—C =0 Na
S-u-d.nﬂndnhtt

38, Phenyl glyoxal

The reaction given above is an example of:


https://dl.doubtnut.com/l/_1cqnd1N5VLIc
https://dl.doubtnut.com/l/_7m1SxEi7lz2c

A. Self Cannizzaro reaction

B. Crossed Cannizzaro reaction

C. Intramolecular Cannizzaro reaction

D. Intramolecular Crossed Cannizzaro reaction

Answer:

o Watch Video Solution

39. Assertion : The reaction of acetyl chloride with dimethyl cadmium
gives acetone but with methyl magnesium chloride tertiary butyl alcohol
is formed.

Reason : The C-Mg bond in CH3MgC'l is more ionic than the C-Cd bond
in (CHj),Cd. So (CHj3),Cd does not react by nucleophilic addition unlike

A.If both A& R are true and R is the correct explanation of A

B. If both A& R are true and R is not the correct explanation of A


https://dl.doubtnut.com/l/_7m1SxEi7lz2c
https://dl.doubtnut.com/l/_gEao562gawU2

C.If Ais true but R is false

D. If both A & R are false

Answer:

o Watch Video Solution

40. Assertion : Higher ketones do not react with a saturated solution of
sodium bisulphite.
Reason : Crowding around carbonyl carbon cause steric hinderance to
nucleophilic attack by the bulkier nucleophile.

A.If both A& R are true and R is the correct explanation of A

B. If both A & R are true and R is not the correct explanation of A

C.If Ais true but R is false

D. If both A & R are false

Answer:



https://dl.doubtnut.com/l/_gEao562gawU2
https://dl.doubtnut.com/l/_OzU7Bx4n1Gno

l @ yvatch video >olution ]

41. Assertion : Benzaldehyde is less reactive than ethanal towards
nucleophilic attack.
Reason : All the carbon atoms of benzaldehyde are sp? hybridised.

A.If both A& R are true and R is the correct explanation of A

B. If both A& R are true and R is not the correct explanation of A

C.If Ais true but R is false

D. If both A & R are false

Answer:

o Watch Video Solution

42. Assertion : Acetone can be used to distinguish cis-cyclopentane-1, 2-

diol from its trans isomer.


https://dl.doubtnut.com/l/_OzU7Bx4n1Gno
https://dl.doubtnut.com/l/_RjePlBwKozAV
https://dl.doubtnut.com/l/_snTPpnEekoLZ

Reason : The cis isomer forms a cyclic ketal with acetone, where as the

trans isomer cannot, as it has the -OH groups in opposite directions.

A. If both A & R are true and R is the correct explanation of A

B. If both A& R are true and R is not the correct explanation of A

C.If Ais true but R is false

D. If both A & R are false

Answer:

° Watch Video Solution

43. Which of the following is correct regarding the reaction of ketones
with ethylene glycol in the presence of dry HCI? The product obtained is
ethylene glycol hemi-ketal, In this reaction, electrophilicity of carbonyl
carbon decreases, HCl protonates the oxygen of the carbonyl group, The

product thus obtained is cyanohydrin

A. The product obtained is ethylene glycol hemi-ketal


https://dl.doubtnut.com/l/_snTPpnEekoLZ
https://dl.doubtnut.com/l/_Dx33xD9JlnG1

B. In this reaction, electrophilicity of carbonyl carbon decreases

C. HCl protonates the oxygen of the carbonyl group

D. The product thus obtained is cyanohydrin

Answer: C

o Watch Video Solution

44. Which of the following statements is/are correct?

A. Aldehydes are generally oxidised under vigorous conditions

B. Ketones are easily oxidised to carboxylic acids even under mild
oxidising agents

C. Oxidation of ketone involves carbon-carbon bond cleavage to give a
mixture of carboxylic acids having lesser number of C-atoms than
the parent ketones

D. All of the above


https://dl.doubtnut.com/l/_Dx33xD9JlnG1
https://dl.doubtnut.com/l/_ssveOrUaHxqw

Answer: C

° Watch Video Solution

45. |dentify the product formed in the given reaction,

H 3
HLC CH,

H CHj3 |
N ‘ + NaCl
o

H cH
\CH__HC< ? scHCL
Hic” COONa

oo™

" cH
> CH——HC< * e NaCl
HyC COOH

Answer: C

+ NaOCl —



https://dl.doubtnut.com/l/_ssveOrUaHxqw
https://dl.doubtnut.com/l/_shnulDeaqlCQ

L_____vvatcn viaeo ooiution )

46. Which of the following statements is/are correct about the aldol

reaction?

A. Aldehydes and ketones having at least one 5-hydrogen

B. The reaction is carried out in the presence of concentrated alkali

C.The product formedis [-hydroxy aldehydes (aldol) or S-hydroxy

ketone (ketol)

D. All of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_shnulDeaqlCQ
https://dl.doubtnut.com/l/_RVVUsjFi2rH7

47.The reactant 'A' in the given reaction is

O

Benzaldehyde + A %ﬂ,@

A.
B.
C.
@iﬁ'ﬁ
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uPw6gGsDzNw4

48. An organic compound ‘A" has the molecular formula C3HgO, it

undergoes iodoform test. Wheir saturated with dil. HCl it gives 'B' of

molecular formula CqH4,0. A and B respectively are

A. Propanal and mesitylene

B. Propanone and mesityl oxide

C. Propanone and 2,6-dimethyl-2,5-heptadien-4-one

D. Propanone and mesitylene oxide

Answer: C

o Watch Video Solution

49. Grignard's reagent reacts with ethanal (acetaldehyde) and propanone

to give

A. Higher aldehydes with ethanal and higher ketones with propanone


https://dl.doubtnut.com/l/_uPw6gGsDzNw4
https://dl.doubtnut.com/l/_DaWlv8u6bp9D
https://dl.doubtnut.com/l/_UEzGLMrODvcw

B.Primary alcohols with ethanal and secondary alcohols with
propanone

C. Ethers with ethanal and alcohols with propanone

D.Secondary alcohols with ethanal and tertiary alcohols with

propanone

Answer: D

o Watch Video Solution

50. By Oxo-process (CH3),C = CHy + CO + Hy — A.Aformed is

A. (CH3),CHCH,CHO
@]

I
B. (CH;),CHCCH,

C.(CH;),CHCH,CH,

D. (CH3)2CHC‘HCH3

CH3


https://dl.doubtnut.com/l/_UEzGLMrODvcw
https://dl.doubtnut.com/l/_02ITWBXxNZos

Answer: A

° Watch Video Solution

51.Identify X and Y respectively in the following reaction:

0]

|‘ 6415 3 3 +
CH,CH,CCH, > M9 v |y . CH,CH,COOH, CH,OH;
CH,COOH, CHyCH,OH; CH,COOH, CH,OH;

CH3;COOH, CH;COOH

A CH;CH,COOH, CH;0H

B.CH;COOH, CH;CH,OH

C. CH;COOH, CH,0H

D.CH;COOH,CH3;COOH

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_02ITWBXxNZos
https://dl.doubtnut.com/l/_AGkndiB43HVp

52. By Cannizzaro reaction A changes to B and C as given

CH,OH

50% NaoH COONa _
A—-s | + .Alis
COONa

B

COONa

CHO

COOH
CHO

CHO
CH,OH

CHO
CH,OH

CH>OH

Answer: A

o Watch Video Solution

53. An olefin on ozonolysis yields a mixture of acetone and methyl

ethylketone. The possible structure of the olefin is


https://dl.doubtnut.com/l/_eyNTRDd8DsjY
https://dl.doubtnut.com/l/_IHOWT1Rit8yw

CH;  CH;
ACH, C = CCH,
CoHs
B. C2Hj C‘J = CH,
CH;  CH

| |
C.CH; C = C CH,CHj

D.CH;CH = CHCH;

Answer: C

o Watch Video Solution

54. Which of the following species is the conjugate acid of the hemiacetal
formed by reaction of benzaldehyde with methanol containing a trace of
acid?
OH
CegHsHC
o <0c71 1

A

+
B. C6H5CH — OCH3


https://dl.doubtnut.com/l/_IHOWT1Rit8yw
https://dl.doubtnut.com/l/_2Hy8RcGS5q6Q

+OCH;
H
C.
OH
C;,H,HC<‘
OH,
D.
Answer: C

o Watch Video Solution

55.1n the following reaction sequence, the product B is

NH,0H  PCl;
CeH;COCxHsp s A > B

C,,HiﬁlcﬁH,_
‘N
~oH

A

B. CsHs ||C;C(5H5

N

C.CsHsCONHCsHs


https://dl.doubtnut.com/l/_2Hy8RcGS5q6Q
https://dl.doubtnut.com/l/_lJD8PYDgViW7

D. C6H5C’|H — NHC,H;
OH

Answer: C

° Watch Video Solution

56. m-Chlorobenzaldehyde on reaction with concentrated KOH at room

temperature gives

A. potassium m-chlorobenzoate and m-hydroxybenzaldehyde

B. m-hydroxybenzaldehyde and m-chlorobenzyl alcohol

C. m-chlorobenzyl alcohol and m-hydroxybenzyl alcohol

D. potassium m-chlorobenzoate and m-chlorobenzyl alcohol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lJD8PYDgViW7
https://dl.doubtnut.com/l/_fyOh3LQgkWkr

57. The increasing order of rate of Cannizzaro reaction for the following

compounds is:

@—cno; CH;@—__CHO: cmo@cm; ozN—®CH0:
@ () (m) '

wy

ATV <IT<II<III
BIII <II<I<IV
CIV<IIIT<II<I

D.IV < IIl < I < II

Answer: B

o Watch Video Solution

CH; CH,
58. Ph — C|Z’ — |C’ — Ph LHZS% A, the product A is
du o
CHj CHj;

| |
A Ph— C = C — Ph


https://dl.doubtnut.com/l/_QYnxEIFC4fAf
https://dl.doubtnut.com/l/_nBB4RQqwUJR9

CH, CH,
|

Ph —C—C—PFPh
N
O
B.
CHs; 0]
| ||
CPh—- C —C —-CH;
|
Ph
CHs 0]
| ||
D. Ph — |C' —C — Ph
CH;
Answer: C

o View Text Solution

59. Compounds A and C in the following reaction are

i) Hydroboration
i)CH3MgB’r‘ HZSO4 R A ii) Oxilation
CHy;CHO L (4) . (B) . (C)
i) H20

A. identical

B. positional isomers

C. functional isomers

D. optical isomers


https://dl.doubtnut.com/l/_nBB4RQqwUJR9
https://dl.doubtnut.com/l/_7wocV6rBQrBV

Answer: B

° Watch Video Solution

60. The reagents to carry out the following conversion are:

Me
Me—= —» }hY

A . HgSO, /d11H2SO4
B. BH3, H202/NG,OH
C. 0804, HIO4

D. NCLNH2 /CHgI, HgSO4 /dlleSO4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7wocV6rBQrBV
https://dl.doubtnut.com/l/_GPfRLolAgJQP
https://dl.doubtnut.com/l/_1GMtbQ6x48cE

61. C¢ H;COCHj is not formed in

A. reaction of benzene and acetyl chloride in the presence of AICI;

B. reaction of acetonitrile with phenylmagnesium bromide in ether

followed by hydrolysis

C. treatment of acetyl chloride with dibenzylcadmium

D. addition of water to phenylacetylene in the presence of mercuric

sulphate and dilute sulphuric acid

Answer: C

o Watch Video Solution

62. A carbonyl compound react with HCN to form a cyanohydrin which on
hydrolysis forms a racemic mixture of alpha- hydroxy acids. The carbonyl

compound is

A. formaldehyde


https://dl.doubtnut.com/l/_1GMtbQ6x48cE
https://dl.doubtnut.com/l/_mmtT2lttjO1i

B. acetaldehyde

C. acetone

D. diethyl ketone

Answer: B

o Watch Video Solution

63. The major product H of the given reaction sequence is

CN ~ 95 % H,S0,
CH; — CHy, — CO — CHjs > G - >
eat
A.CH; — CH = |C’ — COOH
CH;,
B.CH; — CH = |C’ — CN

CHj;
OH

|
C.CH3CH; — |C — COOH

CH;

D.CH3CH = ‘C — CONH,

CH,

Answer: B


https://dl.doubtnut.com/l/_mmtT2lttjO1i
https://dl.doubtnut.com/l/_i0EMdW75MT7S

o Watch Video Solution

64. An organic compound 'X' having molecular formula C5H;,0 yields
phenylhydrazone and gives negative response to the iodoform test and
Tollens' test. It produces n-pentane on reduction. 'X' could be

A. 3-pentanone

B. n-amyl alcohol

C. pentanal

D. 2-pentanone

Answer: A

o Watch Video Solution

65. The smallest ketone and its next homologue are reacted with

NH,0OH to form oxime.


https://dl.doubtnut.com/l/_i0EMdW75MT7S
https://dl.doubtnut.com/l/_AkwqVez4oySW
https://dl.doubtnut.com/l/_7uEf69Iz5FsC

A. Two different oximes are formed

B. Three different oximes are formed

C. Two oximes are optically active

D. All oximes are optically active

Answer: B

o Watch Video Solution

66. The product of the following reaction is,

o


https://dl.doubtnut.com/l/_7uEf69Iz5FsC
https://dl.doubtnut.com/l/_2YsUXNiCEast

( ,Tj'g ~CH,
C. A2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2YsUXNiCEast

CH,

67. is the final
product obtained when one of the following compounds react with base.

Which is the compound?

o0 o

A HyC CH,

o] 0
B. ch/"‘\‘)l\_)]\m!


https://dl.doubtnut.com/l/_85mXaJcp2nPb

n} o

AL

C CH,

o} 0

A

Answer: A

° Watch Video Solution

0

|| H,0+
68. CH;MgBr + CH, =CH - C — H —

product formed.

H,C j{ OH
HyC

A. H

HyC -\-\

CH,

Product

Identify the


https://dl.doubtnut.com/l/_85mXaJcp2nPb
https://dl.doubtnut.com/l/_haoGDTFoTmQy

H;C——\—<D

C. OH
CHs CyHs
OH ;3
D.
Answer: A

° Watch Video Solution

69. What is the product of the following reaction?

1, HCW
2, 95% H,50,, 4
=

HO  CO.H


https://dl.doubtnut.com/l/_haoGDTFoTmQy
https://dl.doubtnut.com/l/_SPCCqGPSNnxn

\_/\HOX
c. chi

COH

Answer: D

° Watch Video Solution

70. Select the structure of the major product in the following reaction.
1. Hy, Lindlar catalyst .
. 2.0, -
— 3. Zn, OHCOH

A. 4-Methylhexanal

B. 3-Methylhexanal
C. 4-Methyl-1-hexanol

D. 4, 10-Dimethyldodecane-6, 7-dione

Answer: A


https://dl.doubtnut.com/l/_SPCCqGPSNnxn
https://dl.doubtnut.com/l/_rftoF9jRx1ZC

o Watch Video Solution

71. A certain compound has a formula C3HgO. It combines with

hydroxylamine to form two compounds which are geometrical isomers of

each other. It is

A. HCHO

B. CH;CH,CHO

C. CH3;COCHj

D.CH, = CHCH,OH

Answer: B

o Watch Video Solution

72.The diketone CHs — CO — (CH,), — CO — CHj on intramolecular

aldol condensation gives the final product as


https://dl.doubtnut.com/l/_rftoF9jRx1ZC
https://dl.doubtnut.com/l/_nkf19gze9l8J
https://dl.doubtnut.com/l/_oLkCohydjIsE

Answer: C


https://dl.doubtnut.com/l/_oLkCohydjIsE

° Watch Video Solution

73.The major product of the reaction is :

O

M &
Ph “ Br, + OH —»

[ﬁ}H""


https://dl.doubtnut.com/l/_oLkCohydjIsE
https://dl.doubtnut.com/l/_a2IuSJU3UjJr

Answer: D

o Watch Video Solution

74. Give the decreasing order of the following in the extent of hydration

or towards NA (nucleophilic addition) reaction.

0] 0 CHO CHO

]‘é “‘i‘jﬁr m_@ N@/Br
A (IV) > (IIT) > (II) > (I)
B.(I) > (II) > (III) > (IV)
C.(IV) > (II) > (III) > (I)

D.(I) > (III) > (II) > (IV)


https://dl.doubtnut.com/l/_a2IuSJU3UjJr
https://dl.doubtnut.com/l/_I8qEVhFVeYjX

Answer: A

° Watch Video Solution

75. How will you distinguish the products obtained by acidic hydrolysis of
Me

OCOMe
I, /‘\ d LM XV
ZN0COMe ¢

A. Fehiling's solution
B. NCLHSO?,
C.Brady's reagent

D. Lucas test

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_I8qEVhFVeYjX
https://dl.doubtnut.com/l/_o4AOQCndwOOp

76.

C. 0
O = oor
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pBy7ArsPNM3c

+ lig. NH,

Me
>—ﬂ + Me — == —H N, o
Me

77.

product (D) is :

Me
Me = — e
OH
A.
O
M - /
Me
B.
0
I
ME — B —Me
D. All
Answer: A

11,07 D).

. The final

o Watch Video Solution



https://dl.doubtnut.com/l/_KeKsVGSDMQII

o

|
78. RCHO + R'CHO — R—C — 0° + R’"CH,0H. Select the
Hydride Hydride
donor Acceptor

correct statement.

A. Oxidation number of C in RCHO increases and that of R'CHO
decreases.

B. Oxidation number of C in RCHO decreases and that of R'CHO
increases.

C. Oxidation number of C remains unchanged in both but that of
oxygen is affected.

D.In CH3;CHO and C¢H5CHO, the former can act as RCHO (hydride

donor).

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wwNkYifxzFRi

79. When diethyl cadmium [(CyHj),Cd] is treated with acetyl chloride
[CH3COCI], the main product is likely to be:

A. Acetone

B. Ethyl methyl ketone

C. Diethyl ketone

D. Acetaldehyde

Answer: B

o Watch Video Solution

80. Which of the following will not be formed when calcium formate is

disilled with calcium acetate?

A. Acetone

B. Propanal

C. Ethanal


https://dl.doubtnut.com/l/_MQ1da1r6SR6Q
https://dl.doubtnut.com/l/_HqKvUKLxEp38

D. Methanal

Answer: B

° Watch Video Solution

81. What is the product formed when cyclohexanone undergoes aldol

condensation followed by heating?


https://dl.doubtnut.com/l/_HqKvUKLxEp38
https://dl.doubtnut.com/l/_UP39d2TvlnRH

Answer: B

o Watch Video Solution

82. Structure of C3HgCly, which on treatment with aqueous alkali
followed by dehydration gives a product which does not give positive

iodoform test, but gives silver mirror test, is:

ti:l
(Y e
l
A.


https://dl.doubtnut.com/l/_UP39d2TvlnRH
https://dl.doubtnut.com/l/_iUtaGBSAx3hv

CH,Cl

D.CeHsCH>CHCls

Answer: D

° Watch Video Solution

8. Which of the following four hydrogens is most acidic?

E:H;—E—CH:—UH:

. (if) (i) (i)
(i)

A. (i)

B. (i)


https://dl.doubtnut.com/l/_iUtaGBSAx3hv
https://dl.doubtnut.com/l/_mfIvPIMqQ1AM

C. (iii)

D. (iv)

Answer: B

° Watch Video Solution

(0]
CH>N> CH3COsH

I
84. CH;—C — CH,— CH; —— A(Major) ——

Product B is

(0]
|
ACH;-0—-C—-CH,—-CHy, — CH;

o

||
B.CH; —C -0 —-CHy, — CH, — CHj;

o

|
CCH; —-CH, —C -0 —-CH, — CH;4

o

||
D.CH; - C — O —-CH, — CHj;

Answer: B

B(Major).

| o A _L vl . o e~ ..


https://dl.doubtnut.com/l/_mfIvPIMqQ1AM
https://dl.doubtnut.com/l/_bpsGAC6z8wIT

L vvallll vIiUCO o0IULIVII

85. Citral can be converted into geraniol by the use of which reagent

CH; ﬂ‘h
CHO CHOH
-3 =
| |
H;C CHS
A. Ho /Pd - C
B.LiAlH,

C. Hz/Pd — BaS0O4 — CaCO3

D. BaSOy4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bpsGAC6z8wIT
https://dl.doubtnut.com/l/_UE5liKXjN4gL

86. Ozonolysis of an organic compound gives formaldehyde as one of the

products. This confirm the presence of

A. Two ethylenic double bonds

B. A vinyl group

C. An isopropyl group

D. An acetylenic triple bond

Answer: B

o Watch Video Solution

87. Reaction by which benzaldehyde cannot be prepared is

CH;

A ©/ + C10,Cl, in CS, followed by H,0*
cocl1

B @ +H, in the presence of Pd-BaSO,

C @ +CO+HCl in the presence of anhyd. AICI,


https://dl.doubtnut.com/l/_JOA2I0qqmKS5
https://dl.doubtnut.com/l/_3tIoZUnHAjtM

Answer: D

o Watch Video Solution

88. Choose the correct option regarding the comparison of reactivity of

benzaldehyde and propanal.

A.Benzaldehyde is less reactive in electrophilic addition reactions

than propanal

B. Benzaldehyde is more reactive in nucleophilic addition reactions

than propanal

C. Benzaldehyde is less reactive in nucleophilic addition reactions than

propanal


https://dl.doubtnut.com/l/_3tIoZUnHAjtM
https://dl.doubtnut.com/l/_naU83B19sE7T

D. Benzaldehyde is equally reactive in nucleophilic addition reactions

than propanal

Answer: C

o Watch Video Solution

Level |

1. Acetophenone is prepared by the reaction of which of the following in

the presence of AlCI3 catalyst?Phenol and acetic acid Benzene and

acetone Benzene and acetyl chloride Phenol and acetone

A. Phenol and acetic acid

B. Benzene and acetone

C. Benzene and acetyl chloride

D. Phenol and acetone


https://dl.doubtnut.com/l/_naU83B19sE7T
https://dl.doubtnut.com/l/_t0OdQeEL9cdv

Answer: C

° Watch Video Solution

2. Which of the following compound gives a kctone with Grignard

reagent?Formaldehyde Ethyl alcohol Methyl cyanide Methyl iodide

A. Formaldehyde

B. Ethyl alcohol

C. Methyl cyanide

D. Methyl iodide

Answer: C

o Watch Video Solution

3. Benzoin is Compound containing an aldehyde and a ketonic group o, 3

-unsaturated acid o -hydroxyaldehyde o -hydroxyketone


https://dl.doubtnut.com/l/_t0OdQeEL9cdv
https://dl.doubtnut.com/l/_HO18ohgxRvTg
https://dl.doubtnut.com/l/_d3gQXZahAX6S

A. Compound containing an aldehyde and a ketonic group

B. a, f-unsaturated acid

C. a-hydroxyaldehyde

D. a-hydroxyketone

Answer: D

o Watch Video Solution

4.The reagent used in Gatterman Koch aldehyde synthesis isPd /BaS O

4 alkaline KM n O 4 acidicKMnO4CO+HCI

A.Pd / BaSO,

B. alkaline KMnQO,

C. acidic KMnQy

D.CO + HCl

Answer: D



https://dl.doubtnut.com/l/_d3gQXZahAX6S
https://dl.doubtnut.com/l/_ih0qnhcu3Qxc

| o Watch Video Solution

5.The reaction in which sodium cyanide is used is Perkin reaction Reimer-

Tiemann reaction Benzoin condensation Rosenmundrcaction

A. Perkin reaction

B. Reimer-Tiemann reaction

C. Benzoin condensation

D. Rosenmundrcaction

Answer: C

o Watch Video Solution

6. Which of the following nitriles will form aldehyde on reaction with

Grignard reagent?

A.HCN


https://dl.doubtnut.com/l/_ih0qnhcu3Qxc
https://dl.doubtnut.com/l/_f7T6iG9dSElj
https://dl.doubtnut.com/l/_bbNp7DzKtrDz

B. CH;CN
C.(CH;),CHCN

D.CH, = CHCN

Answer: A

° Watch Video Solution

7. Which is the incorrect reaction?

Oxp method
A CH,CH = CH, -2 CH,CH,CH,CHO

B. RCN "2 remo

c.(HC00),Ca =+ HCHO

O @)

(CH;) ,CulLi |
D. CH3CCl —_— CHgCHQCCHg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bbNp7DzKtrDz
https://dl.doubtnut.com/l/_716W6bSIImg2

8. Reagents used in Clemmensen reduction and Wolff-Kishner reduction
are respectivelyZn(Hg)-conc HCI,N2H4 - glyco,OH-LiAlIH4,
NaBH4NaBH4,LiAiH4Pd-C/H2,Li/NH3

A.Zn(Hg) — conc. HCIl, NyHy — glycol, OH ~

B. LiAlH,, NaBH,

C.NaBH,, LiAiH,

D.Pd — C/H,, Li /| NH,

Answer: A

o Watch Video Solution

9. Select the incorrect statement.

A. Carbonyl compounds are atttacked by nucleophiles

B. An aldehyde has a greater partial positive charge on its carbonyl

carbon


https://dl.doubtnut.com/l/_KNtSuZF2y7Qg
https://dl.doubtnut.com/l/_QfKxNSC5pwgy

C. Protonation of a carbonyl compound decreases electrophilic nature

and thus, nucleophilic attack is retarded

D. Hydration of CCI3CHO is more than that of CH3CHO

Answer: C

o Watch Video Solution

10. Maximum hydration takes place that of

o

|
A.CF;CCF,

o

I
B. CHyCCHs

o

|
C.CH;CHCCHj

|
cl

o

I
D. O HyC C H

Answer: A

| o A _L vl . o e~_ .. ]



https://dl.doubtnut.com/l/_QfKxNSC5pwgy
https://dl.doubtnut.com/l/_wl97eIaoaLRu

L vvallll vIiUCO o0IULIVII

M. The reaction C¢H;CH = CHCHO with NaBHj, yields

A CyH;CH,CH,CH,OH
B.C4H,CH = CHCH,OH
C.CsH;CH,CH,CHO

D. C;H;CH,CHOHCH,

Answer: B

° Watch Video Solution

12. Urotropine is obtained when

A. urea reacts with formalin
B. urea reacts with ammonia

C. formaldehyde reacts with ammonia


https://dl.doubtnut.com/l/_wl97eIaoaLRu
https://dl.doubtnut.com/l/_YgTxcxxQSAmi
https://dl.doubtnut.com/l/_031A0WBmcqNV

D. acetone reacts with ammonia

Answer: C

° Watch Video Solution

13. HCHO reacts with a mixture of NH4Cl and NaCN, then end product is

@
A CH, = NH,
B. NH,CH,CN
C.CH, = N — CH,CN

OH

HCH<_

CN

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_031A0WBmcqNV
https://dl.doubtnut.com/l/_RXow7PdteypD

14. Which of the following has the most acidic hydrogen?

A. 3-Hexanone

B. 2, 4-Hexanedione

C. 2,5-Hexanedione

D. 2, 3-Hexanedione

Answer: B

o Watch Video Solution

15. Which of the following statements regarding CO group is not correct?

A. The carbon atom of CO group in aldehydes is sp? hybridized
B. The carbon atom of CO group in the transition state formed during

the addition reaction across the CO group is sp® hybridized


https://dl.doubtnut.com/l/_fl3mWieocYEz
https://dl.doubtnut.com/l/_I1nJ264hvKzD

C.The aryl group in aromatic aldehydes speeds up the addition

reaction across the CO group

D. An aryl group stabilises an aldehyde more than the transition state

Answer: C

o Watch Video Solution

H, / Pd/ BaSO,
16. The reduction reaction R — COCl —— RCHO is known as

xylene

A. Clemmensen reduction

B. Wolff-Kishner reduction

C. Rosenmund reduction

D. Catalytic reduction

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_I1nJ264hvKzD
https://dl.doubtnut.com/l/_sjVSsdljzDuE
https://dl.doubtnut.com/l/_wuVCyB3q5Hab

17.The reduction of CHy, = CH — CHO by if (i) Zn — Hg/ HCI and (ii)
H,NNH, /OH ~ ,respectively, yield

A. CH2 = CHCH3 and CHz = CHCH3

B. CH30H2CHO and CH3CH20H3

C. CH3CHQCH3 and CHQ == CHCHg

D.CH3CH,CHO and CH;CH,CHO

Answer: C

° Watch Video Solution

18. The reagent that can be used to convert butane -2-one to propanoic
acid is

A.NaOH,Nal/H*

B. Fehling solution

C. Tollens reagent


https://dl.doubtnut.com/l/_wuVCyB3q5Hab
https://dl.doubtnut.com/l/_tu7FxrnhfPpJ

D.NaOH, I, /H™

Answer: D

° Watch Video Solution

19. The Cannizzaro reaction is not given by

A. trimethylacetaldehyde

B. benzaldehyde

C. acetaldehyde

D. formaldehyde

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tu7FxrnhfPpJ
https://dl.doubtnut.com/l/_0A1j6b5D1Uu1

20. In the Cannizzaro reaction

©

OH
2Ph + CHO — Ph — CHyOH + PhCOQO the slowest step is : the
attack of —OH at the carbonyl group, the transfer of hydride ion to the
carboxylic acid, the abstraction of proton from the carboxylic acid, the
deprotonation of the PhCH,OH
A. the attack of ~ OH at the carbonyl group
B. the transfer of hydride to the carbonyl group

C. the abstraction of proton from the carboxylic acid

D. the deprotonation of Ph — CH,OH

Answer: B

o Watch Video Solution

H+
21. In the reaction PhCH(OH)CH(OH)CHs — D, the compound D

is


https://dl.doubtnut.com/l/_PZM2MLKXCnr4
https://dl.doubtnut.com/l/_AoShsVZwYHxz

A. PhCH,CH,OH

|
CHs

B. PhCH,COCHj3

PhCH — CHCH,
N/
D. PhACOCOCH,

Answer: B

o Watch Video Solution

22. The compound that will not give iodoform on treatment with alkali

and iodine is acetone ethanol diethyl ketone isopropyl alcohol

A. acetone

B. ethanol

C. diethyl ketone

D. isopropyl alcohol


https://dl.doubtnut.com/l/_AoShsVZwYHxz
https://dl.doubtnut.com/l/_RhDIHMY76NHp

Answer: C

° Watch Video Solution

40 % H,S0, Isomerisation
s A > CH3 —C - CH3
I

o

23.CH; -C=CH

19 HgSO4
Structure of 'A' and type of isomerism in the above reaction are
respectively.

A. Prop-1-en-2-ol, metamerism

B. Prop-1-en-1-ol, tautomerism

C. Prop-2-en-2-ol, geometrical isomerism

D. Prop-1-en-2-ol, tautomerism

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RhDIHMY76NHp
https://dl.doubtnut.com/l/_ouLZKJcJ3b9N

24. Acetic acid is treated with Ca(OH), and the product so obtained is
subjected to dry distillation. The final product is

A. propanal

B. ethanol

C. ethanal

D. propanone

Answer: D

o Watch Video Solution

25. Which of the folowing is the industrial method of preparation of

acetaldehyde?

SnCla o*
A CH,CN —— CH;CH = NH %9, cH,cHO
H

B. CH;COCI + H, E% CH,CHO + HCI

C.CH, = CH, + H,0 *%s CH,CHO


https://dl.doubtnut.com/l/_kIptAJIt78mZ
https://dl.doubtnut.com/l/_if2tT8o7s8Xx

D. All of these

Answer: C

° Watch Video Solution

26.CH,CH, — C = N —— CHy;CH, — CHO
The reagent /s X is (are)

B. HQ/Pd - BCLSO4

C. LiALH, /ether

D. NaBH, /ether, H;O™"

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_if2tT8o7s8Xx
https://dl.doubtnut.com/l/_KmEpL8FvC9XR

27. By which of the following methods ketones cannot be prepared?

A. Hydration of alkynes

B. Hydrolysis of gem-dihalides

C. Dry distillation of calcium carboxylates

D. Stephen's reaction

Answer: D

o Watch Video Solution

28. Which one is most reactive towards nucleophilic addition reaction?
j CHO

COCH;


https://dl.doubtnut.com/l/_d3FCsoZrpbk1
https://dl.doubtnut.com/l/_ec3Kic0cMjso

CHO

c CH;
CHO
NO,
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ec3Kic0cMjso

29. The major product of the following reaction is

HE“IU'H
‘ H { anydrous)

O

A. a hemiacetal
B. an acetal
C. an ether

D. an ester

Answer: B

o Watch Video Solution

30. Benzaldehyde and acetone can be best distinguished usingFehling's

solution Sodium hydroxide solution 2, 4-DNP Tollens' reagent


https://dl.doubtnut.com/l/_QdoKuRVO1QYp
https://dl.doubtnut.com/l/_AMHTY7aMua0z

A. Fehling's solution

B. Sodium hydroxide solution

C.2,4-DNP

D. Tollens' reagent

Answer: D

o Watch Video Solution

31. C3H;O did not give a silver mirror with Tollens’ reagent, but gave an

oxime with hydroxylamine. It can give positive iodoform test Fehling's

test Schiff's test Carbylamine test

A. iodoform test

B. Fehling's test

C. Schiff's test

D. Carbylamine test


https://dl.doubtnut.com/l/_AMHTY7aMua0z
https://dl.doubtnut.com/l/_XULJjfZIMnRs

Answer: A

° Watch Video Solution

32. Treatment of cyclopentanone with methyl lithium gives which of the

following species?Cyclopentanonyl radical Cyclopentanonyl biradical

Cyclopentanonyl anion Cyclopentanonyl cation

A. Cyclopentanonyl radical

B. Cyclopentanonyl biradical

C. Cyclopentanonyl anion

D. Cyclopentanonyl cation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XULJjfZIMnRs
https://dl.doubtnut.com/l/_wvNJo21ss6as

33.In the following reaction, the product E is

CHO

1.NaOH
— B
2.H

CHO

CH,OH
A
CHO
CHO
B. |
CO,H
CH,OH
C |
CO:H
CO,H
D. |
CO:H

Answer: C

o View Text Solution

34. In the following species, the one which is likely to be intermediate

during benzoin condensation of benzaldehyde is

+
APh—-C=0


https://dl.doubtnut.com/l/_ydgpvbU1Z3tv
https://dl.doubtnut.com/l/_ptcashb4IET8

+
Ph—C<_
B.
OH
Ph— Cicn
C.
D.Ph—C =0
Answer: C

o View Text Solution

35.The major product H of the given reaction sequence is

CN — 95 % H5SO.
CH; — CH, — CO — CH; — G iy - 4
Heat

A.CH; — CH = |C’ — COOH
CH;,

B.CH; —-CH = C —CN
|
CH,
OH

|
C.CH; — CH, — ‘C — COOH
CH;

D.CH; — CH = |0 — CO — NH,

CH;


https://dl.doubtnut.com/l/_ptcashb4IET8
https://dl.doubtnut.com/l/_qXdgE3w2uQDk

Answer: A

° Watch Video Solution

36. The order of reactivity of phenyl magnesium bromide with the
following compounds is

X X

HC  CHy HC  H Ph
w an i

Ph

AIl > IIT > 1

B.I > III > 1II

C.II >1>1I1

D. All these react with the same rate

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qXdgE3w2uQDk
https://dl.doubtnut.com/l/_29lXIwACM7Un
https://dl.doubtnut.com/l/_02zd9rjmpjw5

37. Which of the following does not react with Fehling's solution?

A.CH3CHO

B.C¢e HsCHO

C.CsH1204

D. HCOOH

Answer: B

o Watch Video Solution

38. Which of the following will react with acetone to give a product
containing C=N-?

A.CsHsNHCH;

B. (CH3)3N

C.CsHs NHCsH;

D.CsHsNHNH>


https://dl.doubtnut.com/l/_02zd9rjmpjw5
https://dl.doubtnut.com/l/_CSIXbpZyjaTn

Answer: D

° Watch Video Solution

39.In the reaction

oxidizing

CH; -CH =CH - (CHO —— (CHs; — CH = CH — COOH,

agent

oxidizing agent can be

A. Alkaline KMnQOy

B. Acidified K2Cr207

C. Benedict's solution

D. All of the above

Answer: C

the

o Watch Video Solution



https://dl.doubtnut.com/l/_CSIXbpZyjaTn
https://dl.doubtnut.com/l/_qYJCDwcDwCnK

N
=
=

ka

40. A+B forms ,Aand B are

A H,N — CH,CH, — NH,, CH;CHO
B.CH;CHO, NH, — NH,
C. H,N — CH,CH, — NH,, CHO — CHO

p. HCHO, CH3;NH,

Answer: C

o Watch Video Solution

41. Under Wolff-Kishner reduction conditions, the conversion which may

be brought about is

A. benzaldehyde into benzyl alcohol


https://dl.doubtnut.com/l/_ddMr1fTLYr7P
https://dl.doubtnut.com/l/_UzpFz8zJ2diq

B. cyclohexanol into cyclohexanone

C. cyclohexanone into cyclohexanol

D. benzophenone into diphenylmethane

Answer: D

o Watch Video Solution

42. The crossed-aldol product formed when propanal acts as the

electrophile and butanal as nucleophile is

A. 3-hydroxy-2-methylpentanal

B. 3-hydroxy-2-methylhexanal

C. 2-ethyl-3-hydroxypentanal

D. 2-ethyl-3-hydroxyhexanal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UzpFz8zJ2diq
https://dl.doubtnut.com/l/_rCp6W8WPqRig

43. Which of the following aldehydes contains « - carbon atom but does

not have any a — H atom?

A. Propionaldehyde

B. Furfural

C.Isobutyraldehyde

D. Formaldehyde

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rCp6W8WPqRig
https://dl.doubtnut.com/l/_1kZ3OPIDxQTl



https://dl.doubtnut.com/l/_rUDnk04f6fbs

Answer: B

° Watch Video Solution

45.The reagents used to convert

0
Or-emai— Oan

A.i. O3 /Red. ii. AlCl; iii. MeCOOH

re:

B. . H2SO4 + HgSO4 ii. HQO, heat
C.i.03/Zn — AcOH ii. HySO4 + HgSOy iii. H,O, heat

D.i. CHyCOOH ii. HyOy + OH | H,O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rUDnk04f6fbs
https://dl.doubtnut.com/l/_4OaKcIbenZDf

46. Compound (A) given below can undergo Cannizzaro reaction itself

and crossed Cannizzaro, reaction with HCHO. It is because of:

OH OH

H

HO O

A. 1t has three ( — CH>OH) groups
B. It has an aldehyde group
C. It has non-enolisable a« — C

D. It has a keto group

Answer: C

o Watch Video Solution

47.Clemmensen's reduction will convert cyclohexanone into:


https://dl.doubtnut.com/l/_3mmzInTaeJLf
https://dl.doubtnut.com/l/_hW1KxIrPZ3vZ

A. Cyclopentanone

B. Cyclohexane

C. n-Hexane

D. Benzene

Answer: B

o Watch Video Solution

48.The chemical reaction of acetaldehyde and ammonia results in:

A. Ethylamine

B. Hexamethylene tetra amine

C. Acetic acid

D. Acetaldehyde armonia trimer

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_hW1KxIrPZ3vZ
https://dl.doubtnut.com/l/_R7OZeyrlsIis

49. Which is the Wacker process?

Agcat
A 2CH;CH,OH + O, % 9CH,;CHO + 2H,0
igh temp.

Cn
B. CH30H2OH M CHgCHO + H2

H,S0,4,HgS04
C.CyHy + H) O — CH3CHO

CuC
D. CoH, + PdCl, + H,0 &% CH,CHO + Pd + 2HCI

Answer: D

o Watch Video Solution

50. Cyclohexanone is subjected to reduction by, NaBH,. The product

formed is:

A. Cyclohexane

B. Cyclohexanal

C. Cyclohexadiene


https://dl.doubtnut.com/l/_R7OZeyrlsIis
https://dl.doubtnut.com/l/_aNYo48ulHcHd
https://dl.doubtnut.com/l/_4Q9izhJl4da1

D. Cyclohexanol

Answer: D

° Watch Video Solution

Level lii Single Correct Answer Type

1. CsH(Cly + NaOH — C5H4O. B is an aldehyde with no o -
(4) (B)

hydrogen. Thus, A'is

A (CH3)3CCHCl2

B. CH30H2C|HCHCZ2

CH3

C.CH3CHCH,CHCI,
|
CHs3
Cl
|
D.CH3CCH>sCH>CHj;

|
cl

Answer: A

[ o S |


https://dl.doubtnut.com/l/_4Q9izhJl4da1
https://dl.doubtnut.com/l/_9QhAc6scYcyM

[ @ Watch Video Solution J

2. Compound A(CsH900) gives yellow precipitate on heating with

Ca(OH), and I, «calcium salt thus, formed forms B

(CH3),CHCCH(CHj), | on heating. Thus, Ais
|

o

o

I
A.(CH3),CHCCH,

B. (CH;),CHCH,CHO

@)

|
C.CH3;CH,CCH,CHj,

o

|
D. CH3CCH;CH>CHj3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9QhAc6scYcyM
https://dl.doubtnut.com/l/_N3ewPFi3IjOm

o o

| [
3. CH;CCH,CH,COCH,CHj

i) CHsM gBr(one mole)

s A, A formed in this

reaction is
OH O
| N
A.CH; C CH,CH,COCH,CHjy
I
CH;
0] o

| |
B.CH;CCH,CH,CCHj

H4C O

O
Hic

C.

CHj CH;
| |
D.CH; C CH,CH, C CHy

| |
OH OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N7eqAPRDMRKl

4. Consider the following transformation,

O
R A e, x e v
Y

A ‘\/OQ/NOZ N

OH [s]

B. mA R A e,

C. l'\/\L N

NO,

e

Answer: A

,XandY are

° Watch Video Solution

o)

I
5.CH; — C — CH, — CH, — CH, — CH, —

products are:

0]

B
C — CH; Bl , Possible
KOH


https://dl.doubtnut.com/l/_bWeZNKTZZWJV
https://dl.doubtnut.com/l/_GFjIclJj50NU

CH;

A.

CH4

:CH"C Ha
B 0
O

CHs

CH;y
C.

D. Both (B) and (c)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GFjIclJj50NU

6. The final product ‘W' in the following reaction sequence is

_anhyd, AJL‘I, i) Zn-Hg/HCI
+ -
O —=V ’l} F[:II tlh w

A O
B. ‘
C.
T
CH,0OH
D.
Answer: A



https://dl.doubtnut.com/l/_I8IYnN7Jw5xm

L T vvaldil vidcoO o01ution

7.Find the final product in the following given reaction.

= Product (D)

0
NaOH, H,0
Heat
Q
A. :
) /Y\)k
0
C.


https://dl.doubtnut.com/l/_I8IYnN7Jw5xm
https://dl.doubtnut.com/l/_V19UIZYVSf7Q

Answer: B

° Watch Video Solution

8. Which the following will not give yellow colouration with NaOI?


https://dl.doubtnut.com/l/_V19UIZYVSf7Q
https://dl.doubtnut.com/l/_MzO7egJtlDzw

Answer: D

° Watch Video Solution

9. Acetophenone when reacted with a base, C; H;ONa, yields a stable

compound which has the structure
e
Q1O
A OH OH
o7t
=CH—
ONai©
C.

OO

D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MzO7egJtlDzw
https://dl.doubtnut.com/l/_eYpS2eFZ0hvF
https://dl.doubtnut.com/l/_xfq7k0r5tupV

10. The major product of the following reaction sequence is,

O

i [if=2]

# ) HCHOVH® | catalyric amount )

r% %} % %‘3


https://dl.doubtnut.com/l/_xfq7k0r5tupV

Answer: A

° Watch Video Solution

Level lii Multiple Correct Answer Type

1. Acetophenone can be prepared by

A. Oxidation of |I-phenylethanol
B. Reaction of benzylethanol with methyl magnesium bromide
C. Friedel Craft's reaction ofbenzene with acetyl chloride

D. Distillation of calcium benzoate

Answer: A::C

o Watch Video Solution

2. Which of the following will give aldol condensation?


https://dl.doubtnut.com/l/_xfq7k0r5tupV
https://dl.doubtnut.com/l/_350mzT6G7vmm
https://dl.doubtnut.com/l/_TKJt3RI06c8V

A. Acetaldehyde

B. Propanaldehyde

C. Acetone

D. Benzaldehyde

Answer: A::B::C

o Watch Video Solution

3. In which of the following reactions only aldehyde can be formed not

ketone?

A. Rosenmund reduction

B. Stephen’s reduction

C. Dry distillation of Ca salts of acids

D.Reaction of aromatic hydrocarbons except benzene with

chromylchloride


https://dl.doubtnut.com/l/_TKJt3RI06c8V
https://dl.doubtnut.com/l/_NeCiJpEAnzFw

Answer: A::B::D

° Watch Video Solution

4. Which of the following reactions involves/involve carbanion as the

reaction intermediate?

AHC—C—HZ
]
(0]
OH ~
B.H—C— HZ,

| | conc.

o

o)

” C=N o

i - o8,
C. >C H2L<(EN

Al(OEt),
D. H3C — ﬁ’ - H—

0

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_NeCiJpEAnzFw
https://dl.doubtnut.com/l/_3zMstzYeF6pE

5. Which of the following compounds

condensation?

A.CH; — CHO
B.
(0]

Answer: B::D

do not undergo aldol

° Watch Video Solution

6. Positive Tollens' test is observed for


https://dl.doubtnut.com/l/_G5IvuTS6pk6h
https://dl.doubtnut.com/l/_T3dlha1TfwZm

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_T3dlha1TfwZm

7. Which of the following statements about benzaldehyde is/are true?

A. Reduces Tollens' reagent

B. Undergoes aldol condensation

C. Undergoes Cannizzaro reaction

D.Does not form an addition compound with sodium hydrogen

sulphite

Answer: A::C

o Watch Video Solution

8. Which of the following reagents is used to identify carbonyl group

from other functional group?

A. Schiff reagent

B. Fehling solution

C. 2,4-dinitrophenylhydrazine


https://dl.doubtnut.com/l/_rfKdB6Bys6v6
https://dl.doubtnut.com/l/_6uiP0KZFL2cu

D. Tollen's reagent

Answer: A::B::C::D

° Watch Video Solution

9. Keto-enol tautomerism is observed in

O
Am@—g—ﬂ
O
am%—g—om
O
cm%—g—%m
O

I
D. H;Cs — C — CH, — CH,

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_6uiP0KZFL2cu
https://dl.doubtnut.com/l/_Clnm5TcB9CcZ

10. Which of the following reactions would give propanal?

A.Ethyl  propanoate+DIBAL-H(diisobutyl  aluminium  hydride).[
(i — CyHy), AlH]at-70° C, followed by hydrolysis.

B. Propyl propanoate+DIBAL-H / H,O

C. Ethyl cyanide + DIBAL-H

D. Propanoyl chloride + LiAlH(O — t — Bu),

Answer: A::B::C::D

o Watch Video Solution

1. Which of the following are crossed aldol products in the given

OH -
reaction? MeCHO + MeCH>CHO —C>
25°

OH

o
Me
A.


https://dl.doubtnut.com/l/_fDTKDVhVAfqG
https://dl.doubtnut.com/l/_d0owOkdUHKYE

OH
B.

OH

CHO
Me
Me
C.
Me” | CHO
D. OH
Answer: C::D

° Watch Video Solution

12. Which of the following statements are correct about the reaction

given below?

#ﬂ'

E .r_ﬁ"‘: 8)F9, () 2%, )
(A)



https://dl.doubtnut.com/l/_d0owOkdUHKYE
https://dl.doubtnut.com/l/_ACnQFnjrj45u

A. In the formation of (D) from (C), ring expansion takes place

B. The product (D) is cyclopentanone

C.The product (D) is a, 8- unsaturated cyclopentanone

D. Conversion of (B) to (C) can also be carried out with LAH

Answer: A::B::D

o Watch Video Solution

Level lii Numerical Type

1. How many crossed aldol products would be obtained when a mixture of

formaldehyde, acetaldehyde and benzaldehyde is mixed with dilute alkali?

o Watch Video Solution

2. The number of aldol reaction(s) that occurs in the given transformation

is


https://dl.doubtnut.com/l/_ACnQFnjrj45u
https://dl.doubtnut.com/l/_98rAFAmALnhZ
https://dl.doubtnut.com/l/_XekRCnEPYceh

—OH
CHyCHO + 4HCHO === MO, 1

A3
B.5
C.4

D.6

Answer: 3

° Watch Video Solution

3. Among the following, the number of reaction(s) that produce(s)

benzaldehyde is

CHCly
A) @ — B) O/
COCl
o (T



https://dl.doubtnut.com/l/_XekRCnEPYceh
https://dl.doubtnut.com/l/_lyT1mi3RU19W

I o Watch Video Solution

4. Consider all possible isomeric ketones, including stereoisomers of MW
= 100. All these isomers are independently reacted with NaBH,
(Stereoisomers are also reacted seperately). The total number of ketones
that give a racemic product(s) is........

A4

B.5

C.6

D.3

Answer: 5

o Watch Video Solution

5. Consider the reaction given below, the maximum possible deuterium

atoms found in the product of the reaction


https://dl.doubtnut.com/l/_lyT1mi3RU19W
https://dl.doubtnut.com/l/_Qbpu78F5wo6O
https://dl.doubtnut.com/l/_HWfsEKaDNhdc

N3, 0

° Watch Video Solution

6. When CH3CHO is treated with excess of HCHO in aqueous solution of
NayCOs3, a product, used in making explosive, is obtained finally. Find the
number of primary alcoholic groups present in one molecule of the

product?

° Watch Video Solution

Level lii Matching Column Type



https://dl.doubtnut.com/l/_HWfsEKaDNhdc
https://dl.doubtnut.com/l/_0ppDD9orndsS

. Match the following columns:

Column-1 Column-I1
a Water solible
(a) HAC-C-H (p)
(b) [HCHO (q) |Shows cannizaro reaction
(¢) |PhCHO {r) |Undergoes aldol reaction
(d) Me-C-Me (s) |Forms two oximes on

;

reaction with HazN - OH

o Watch Video Solution



https://dl.doubtnut.com/l/_guZWbzY0yvuf

2. Match the following columns:

Column-I Column-I1
(a) [Ph-CHO (p) |Fehling solution |

Me=C=Me

(b) H (q) |2, 4-DNP test
H=C=11

(c) H (r) |Tollen's reagent

o 1
(d) H,é_‘-{r-ﬂ (s) |lodoform test

° Watch Video Solution



https://dl.doubtnut.com/l/_MoE9eo4tZapF

3. Match the following columns

Column I Column 1T
Reaction Products

0

Il

@
A)Q WO By %.. (© p) Final product is ¢, — unsaturated ketone or ketone
(&)
Q
I o
Me oH

B) CHO remdtl q) Formation of six-membered ring takes place

A

o]
Il
o (] e, @) w0 2200, )

1) Final product will give positive Tollens test

(A) ofKOH
Ph ®
D) %'M’ Ja‘_’ ® s) Ring expansion takes place
(A}

t) Final product gives test with Brady’s reagent

° Watch Video Solution

4, Match the

Column 1
A) Methanal disproportionates
in the presence of conc. alkali
B) CHscHo

CgHsCHIOH) COCH,
ChAldehyde which gives iodoform test
D) (cHy), C{}M}JFP_.E_*

(CHy), CH,

following columns

Column I
p) Benzoin condensation

q) Acetaldehyde

1) Wolff-Kishner reduction

s) Cannizzaro’s reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_Gwi83sxD55Zp
https://dl.doubtnut.com/l/_RrLHXecE9KvW
https://dl.doubtnut.com/l/_aC6STNEwerDD

5. Match the following columns

Column 1 " Column I1
Reaction Reagent
~0 CooH . ; .

A) O 11, i Glycol + HCL, 1i.80CL, iii. DIBAL-H; iv. H,0"

CH=0 H=0
B) 17, q)i. BH,/THF; ii. H,0,/OH-

OOH CH==0

LMe T Ph— = —Me

C) i r)i. LIAIH,; ii. Cone. H,80,/ A, iii. O /Zn-AcOH

D) H*C‘D'° _T_?QHR_O_O 8)i. PCL,; ii. 2NaNH,

° Watch Video Solution

Level lii Statement Type

1. This question contains two statements: Statement 1 and Statement 2.

This question has four alternative choices, only one of which is the
correct answer.

Statement 1: Benzaldehyde on heating with concentrated alkali give o, 8-
unsaturated carbonyl compound.

Statement 2 : Benzaldehyde do not have an o H-atom.


https://dl.doubtnut.com/l/_aC6STNEwerDD
https://dl.doubtnut.com/l/_4729tcgg4gWD

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1is True, Statement 2 is False.

D. Statement 1is False, Statement 2 is True.

Answer: D

o Watch Video Solution

2. This question contains two statements: Statement 1 and Statement 2.
This question has four alternative choices, only one of which is the
correct answer.

Statement 1 : The reaction of aldehydes and ketones with pure HCN is
very slow to yield cyanohydrin.

Statement 2 : The above reaction is catalysed by a base and generated


https://dl.doubtnut.com/l/_4729tcgg4gWD
https://dl.doubtnut.com/l/_N8kuJlshekr1

cyanide ion being a weaker nucleophile adds to carbonyl compounds to

yield, corresponding cyanohydrin.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1is True, Statement 2 is False.

D. Statement 1is False, Statement 2 is True.

Answer: C

o Watch Video Solution

3. Statement 1: Ethyl benzoate, on treatment with di isobutlyl aluminum
hydride, is reduced to benzaldehyde.
Statement 2: {(C’H3)2CHCH2}2AZH (diisobutyl aluminum hydride) is a

weak reducing agent, can't reduces aldehyde further.


https://dl.doubtnut.com/l/_N8kuJlshekr1
https://dl.doubtnut.com/l/_zs6bd3hboYVF

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1is True, Statement 2 is False.

D. Statement 1is False, Statement 2 is True.

Answer: A

o Watch Video Solution

4. Statement 1: Treatment of 1-butyne with ByHg/H>0, (aq) gives
butanal as major organic product.
Statement 2: Reaction involves a hydride transfer from boron to carbon

in the intermediate step.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.


https://dl.doubtnut.com/l/_zs6bd3hboYVF
https://dl.doubtnut.com/l/_vXvYq39K5Zy2

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C.Statement 1is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

o Watch Video Solution

5. This question contains two statements: Statement 1 and Statement 2.
This question has four alternative choices, only one of which is the
correct answer.

Statement 1: The a-hydrogen atom in carbonyl compounds is basic.
Statement 1: The anion formed after the loss of a-hydrogen atom from

carbonyl compound is resonance stabilised.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.


https://dl.doubtnut.com/l/_vXvYq39K5Zy2
https://dl.doubtnut.com/l/_AOA0p3heByxd

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1is True, Statement 2 is False.

D. Statement 1is False, Statement 2 is True.

Answer: D

° Watch Video Solution

Level lii Linked Comprehension Type

the

compound


https://dl.doubtnut.com/l/_AOA0p3heByxd
https://dl.doubtnut.com/l/_MoJfL7JORYWn

carbon is joined to other atoms by

A. Two sigma and one pi bonds

B. One sigma and two pi bonds

C.Three sigma and one pi bonds

D. Two sigma and two pi bonds

Answer: B

the carbonyl

° Watch Video Solution



https://dl.doubtnut.com/l/_MoJfL7JORYWn

2. Which of the following types of isomerism is shown by pentanone?

A. Chain isomerism

B. Position isomerism

C. Functional isomerism

D. All of these

Answer: D

o Watch Video Solution

3. Carbonyl compounds are

A. Ethers, aldehydes, ketones and carboxylic acids

B. Aldehydes, ketones and carboxylic acids

C. Aldehydes and ketones

D. Carboxylic acids


https://dl.doubtnut.com/l/_Qk6mdrCT1foq
https://dl.doubtnut.com/l/_AoevhuvVawAc

Answer: C

o Watch Video Solution

4. Aldehydes and ketones are amphoteric. Thus they can react both as
acids and bases. Under acidic conditions, the carbon of the protonated
carbonyl group is much more electrophilic, reacting even with weak
necleophile. Carbonyl compound gives nucleophilic addition reaction. In
this reaction the nucleophilic attack precedes the electrophilic attack.

Which of the statements regarding nucleophilic addition to carbonyl

compounds is/are correct?

A. Carbonyl compound is amphoteric in character
B. Acid catalyst makes the carbonyl carbon more electrophilic
C. Basic catalyst makes the nucleophilemore nucleophilic

D. All of these

Answer: D

(e~ |


https://dl.doubtnut.com/l/_AoevhuvVawAc
https://dl.doubtnut.com/l/_wGgyEAeF510b

[ @ Watch Video Solution J

5. Aldehydes and ketones are amphoteric. Thus they can react both as
acids and bases. Under acidic conditions, the carbon of the protonated
carbonyl group is much more electrophilic, reacting even with weak
necleophile. Carbonyl compound gives nucleophilic addition reaction. In
this reaction the nucleophilic attack precedes the electrophilic attack.

Which of the statements regarding nucleophilic addition to carbonyl

compounds is/are correct?

A.The rate determining step of nucleophilic addition reaction is the

addition of nucleophile

B. The rate determining step is addition of electrophile

C.The reaction intermediate of the reaction is alkoxide ion

D. Both (A) and (c)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wGgyEAeF510b
https://dl.doubtnut.com/l/_EycJU553qIXI

6.
Which one of the carbonyl compounds is more reactive towards

NaCN/H*?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EycJU553qIXI
https://dl.doubtnut.com/l/_qhHq00MUOSxO
https://dl.doubtnut.com/l/_dmF7OKPl2kIG

7. Two aliphatic aldehydes Pand Q react in the presence of K,COj3 to give
compound R, which upon treatment with HCN provides compound S. On

acidification and heating, S gives the products shown below.

HyC OH
HaC

The compounds P and Q, respectively, are

~
CH  H and
an/ \c/ %
A !
Hy
| o A
CH H and C
PN i
WY !
B. 0
o H HoC  _H
TH nd C
C CHy 5 t’:
WO CHy H M H
C‘l’./ \C/ (/
| I =
CHy o )


https://dl.doubtnut.com/l/_dmF7OKPl2kIG

Answer: B

° Watch Video Solution

8. Two aliphatic aldehydes Pand Q react in the presence of K,COj5 to give
compound R, which upon treatment with HCN provides compound S. On

acidification and heating, S gives the products shown below.

Mo DH
Hal

The compound R is


https://dl.doubtnut.com/l/_dmF7OKPl2kIG
https://dl.doubtnut.com/l/_Cure2fA1Qx4W

”'-‘7«-%{,.*-«*H
Myl 7|
; H.c*"'m\m
tHy ©
b )
Hal JJ/ H
C “oH
H, ©
I |
/m‘k S
HyC H
#Am
D.
Answer: A

o Watch Video Solution

9. Two aliphatic aldehydes Pand Q react in the presence of K,COj5 to give
compound R, which upon treatment with HCN provides compound S. On

acidification and heating, S gives the products shown below.


https://dl.doubtnut.com/l/_Cure2fA1Qx4W
https://dl.doubtnut.com/l/_JsQRQx5rrfY3

HaC
HalC

The compound S is

CHhy o
bl
“Nen” M

|
Het
N CN

HqC


https://dl.doubtnut.com/l/_JsQRQx5rrfY3

T
“F}c;m\m
"

Now

Answer: D

o Watch Video Solution

PhCHO —23C (B) (C14H 202/
{ﬁ] KCN l
H‘-lﬂﬂm

Unsaturated
(D) DES008y oo m%nmd
commpou
lCmHIED“ (E)
(F)

10.

The conversion of (A) to (B) is called:

A. Pinacol-Pinacolone rearrangement reaction

B. Benzoin condensation

C. Claisen Schmidt reaction


https://dl.doubtnut.com/l/_JsQRQx5rrfY3
https://dl.doubtnut.com/l/_N8a8YG4fF8Rj

D. Cannizzaro reaction

Answer: B

° Watch Video Solution

PhCHO —3¢5 (B) (C,4H 209}

(A) KCN l?hﬂ[-lm-l
Unsaturated
(D) D008y, o iy ﬂﬂ%ﬂuﬂﬂ
li:'nnn H,50, (E)
(F)

1.

Compound (B) is:

- J\I,Ph
OH


https://dl.doubtnut.com/l/_N8a8YG4fF8Rj
https://dl.doubtnut.com/l/_t75sf1errdZM

o

OH

D. None

Answer: A

o Watch Video Solution

PhCHO —%2%5 (B) (C14H 209}
(A) KCN
MaBH /ErOH
(D) —2eeloney, o tic
l(:‘nnn H,50, (E)
(F)
12.
Compound (F) is:
Ph
CHO
Ph


https://dl.doubtnut.com/l/_t75sf1errdZM
https://dl.doubtnut.com/l/_Kp3Jdt6aExSZ

nAm

C.Both (A) and (B)

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Kp3Jdt6aExSZ

